(2) BIIIKF

E s — {; . E = E A % TR R b R V.
1] #)I | arm gig * 0.0k ~ 4.9k 5037| B (Eg’gg) " K A0t i;i‘,gfﬁ'ogk%ﬁ
2| o | i el | E£| 00k ~ 09k sss| B | mEmAEA | R A | 2B

3| o | S =] 2~ e 2205| B | mBmmEk | Bk | 2B

a| | e molE| T~ e 3| B | mAGEK | Bk |[matos

5 | I | e BIIE | &| a9k ~ sk 135 B | ERLEEK | Bk | £ & &b
6| Bl | e ATH [ E| o~ e | 8 | mkGEK) | Bk |#Hatos

8 | B | v 2an |E] T~ 7 sao| B | mmmmEA | Bk | 2 8 AN
9 | ® I | e FRET | & 7+.f)(|: ~ 7.4k a37| B | BIAGEK ok |[EAto> Ggggﬁgk
10| ® | e FRET | % 7.3k ~ 7.4k 123| B (Eg’gg) Bk | Ao sggéoﬁgk
2| B | e e E 7~ 70 102| B | EmwBEK | Bk | 28 A
3| B | v P B B 2962 B | HAGEK) | Bk |mato> PR 10k
14| B | AT g%:% b 8.1k ~ 9.3k 1249 B (Eg’gg) Bk | Bowm ;ggggﬁ
15| | v g}:% £| 81k ~ 9.3k 1209 B | HEEmmEAK | Bk | 2B B
16| B | v waar 2| 0~ TR 0| 8 | SEEI | gk |matos

7| B | v N - 71| 8 | EKGEK) | Bk (EEEes|

18| B | waar |z 0~ 7% w| 8 | SEER | w ok mates e

19| #I1| vt N - e 12| B | MKGEK | B A |mato>

20| B | vt war |z )~ 0 ws| A | HKGEK | B A |[mato>

21 B | AT gl | &£ :112(2 ~ 115k 225 B égg% w® oK Aoty

2| B | v wighy || )~ 1O so0| A | mEKGEK | B A |mato>

2| B | vt wEE | H| o ~ 0K 13| 8 | #AGEK | Bk |[matos

25| #1 | e e E e w| B | mkGEK | Bk |Eatos

26 B | AT RiET | & 0.9k ~ 1.1k 178| B HE B RIRK w®m oK £ B

27 | BN | AT BrEET | B 1.3k ~ 1.5k 180 B ERERRK wm K £ B

28| #)II | NATH E%F’T&%ETET A 1.7k ~ 1.9k 201| B éggg) & ok B0

29| B | i BoE | E] 1~ 1ok 01| B | mEmmEk | Bk | 28 e
30 BN | AT if%mg B 3.3k ~ 5.1k 1,851 B E B ARRK w®m oK £ B

sl @ | v Boaro|m| o~ 0 B | mkGER | #k |#atos

2| | v wEE 5| ek~ o 0| 8 | SEER @k |mates

33| #II | VAT ﬁ;ﬁig Fa ;;i ~ ;iﬁ( 132 B oKk (k) ok [#axtos Gggéofgk
3a| | e fﬁig fH| 69 ~ 7.1k 151 B égg% Rk | Aow Ggglfzofgk




% | e ® = - 2 5 | 2 san| wE | Kk .
=1 A% ;W RN = g OB R (m) g % fEk& % FIRME LI
BESEMT | 5 = 6.8k~10.4k
35 #JIl | INATH FRET b 6.9k ~ 7.1k 151 B HEE ARk B’ oK e B AR
\ +100 _ +50 K (oK) ‘ - 6.8k~10.4k
36| #II | ATH FHRET B 70k 7 6k 536 | B | rrmehrg) MoKk [#Ertos & 5
TACHT 450 +50 o . - 6.8k~10.4k
37| # | AT A A T ek 8k 192] A oK Gigok) oK |ErEOS =
38| B | AT FRET |&| 77k ~ 7.9 192 A | HEmERA | Rk | 2B i
+150 +50 o . - 6.8k~10.4k
39| # I | AT HEFET | A sk " sk 394 B oK Gitok) oK |ErEOS =
FLAHET +190 +70 ke (3 : = 6.8k~10.4k
a0 | #N | ar o A 0.0k 10,0k 95| B oK Gitok) oK |ErE0S =
S A FHHET +50 3 . P 6.8k~10.4k
41| # | AT 5 T o) 9.2k 9.5k 237 B HEE ARk ® oK e B EXE
FiAEBAT +50 R RRIK . 9.2k+50~9.5k
a2 | i B B 92k 9.5k 237| B (=EEE) /oK A Dtk B REARY
R RRIK . 6.8k~10.4k
43| # I | AT 1E FH AT A 9.7k ~ 9.9k 2200 B (R EE) D=1/ =10} & X
aa| B | e sEEr | &| 97k ~ 9.9k 20| B | mRHEEk | BA | 28 Ggggﬁgk
+70 +150 o . - 6.8k~10.4k
as| #| e HEEET | A& 10.0K 10,0k 80| A oK Gitok) oK |ErEOS =
SBERT +60 . . o in 6.8k~10.4k
46 | # Il | AT ﬁ%‘%mm b 10.1k 10.4k 397 B HEE ARk ® oK e B AR
EmET +150 +120 o . - 6.8k~10.4k
a7 | # | e ﬁ%% ko 100k 104k 407 B oK Gitk) oK |ErE0S =
5 2T +120 4120 o . -
ag| # | e R B 10.4k 10,6k 201| A oK Gitk) oK |ErE0S
49 | # Il | /AT thyg AT b 10.8k ~ 10.9k 100 B HEE ARk ® oK 2 B
. +10 +110 e ‘ _
50| # I | VAT hiElT | A o8k~ 112k 537 B oK (oK) ok [Eatos
. R RRIK N
51| #J11 | v higlT | A | 109k ~ 11.1k 219| B (=EEE) ® ok B0
FRifgAT N 2RIk .
52| # I | NVATE g b 11.3k 12.1k 777| B (R EE) D=1/ =10}
. +60 +80 e ‘ .
53| # I | VAT hiplT | A a1k 422 B oK (oK) ok [Eatos
shiERT +80 ik (3 i 5
sa| # | AT i b 118k 12.2k 336 A oK Gitk) oK |ErEOS
. 7 | 0.2k+65.6 =5 - . ; 5
ss| & | v ZEW | - | L oy Eﬁ% B | FANRBRE | # K |Batos AT
BT % 3.6k818 ARty N ~ 5 7 B A RE
56 *%J” /J\*/AI_'H %Eﬂﬂﬁ - £ | 3.6k+180.2 ﬁv“l%é@ B %T%%ETE ok BAHLTDS MBS A
s 5.0k+43.4 - . -
s7| B | v =S I il MawE | B | HTABERE | Bk |Eatos B
3 6.8k+161.5 . . -
ss| B | v B || L oo griE| s |HraBERE| Bk |[Bato> T
.2k+29.
so| I | mvinms FRE | - E 1223 ABE | B |HTABERE| Bk |Eato>s T
9.2k+93.5 . . -
60| I | minms sAmET | - E 2B |wrma| B |HTEREFR| Bk |Earos Bl
= K RET % | 9.8k+137.0 . _ . ‘ _
61| #JII | AT B R “| & | oske1233 SIS B |[#MTR¥®EEARE| # Kk [EaxoS AR
x gy % | 10.6k+160.0 . _ - . -
62| ®II | AT this R |5 | 106ks2148 BEHE| B |MITRAETRE| # Kk [BEatoS AINE
SR AEAT # | 11.0k+70.0 . _ . ‘ _
63| #JIl | AT this R “| 5 | 11.0k+105.9 FEAE| B |MITRHBEARRE| ® Kk |Batod AR
4k+28.
6a| B | s Pl |- | T et mmexE| 8 |HTARETRR | &K |(Reto> T
Ak+12.4
=t 27,266
X ERRB TR TENFTZOEEE. THKGEK) CGRTEATR) ) £T5,
¥k R EE KB E TS ET (m)
BEKBER | EBKFER K B s HEEaE | K& e T
EEE | gyunL) | (B7uaw) | ok  EERK B xm FEEEM|
A 1,524 1,666 1,474 0 192 0 0 0
B 15,874 25,600 7,461 9,406 8,733 0 0 10
z 17,398 27,266 8,935 9,406 8,925 0 0 10




